Riemann Sum Worksheet Name

For each problem sketch the graph shdwing the appropriate region, then approximate the area bound by the curve
and the x-axis on the given interval using 6 different Riemann sums Left, Right, Upper, Lower, midpoint, Trapezoidal,
using the specified number of subintervals.

1. Function: f(x) = —(x — 3)%+20 on Interval [0, 5] using 5 subintervals
Graph:
Left Sum Right Sum
Lower Sum Upper Sum

Midpoint Sum Trapezoidal Sum




2. Function: f(x) =2sinx+3 on Interval [0, 2r]using 6 subintervals

Graph:
LeftSum Right Sum
Lower Sum Upper Sum

Midpoint Sum Trapezoidal Sum




3. Function: f(x) =Y2x—1+5 on Interval [-2, 2] using 4 subintervals

Graph:
Left Sum Right Sum
Lower Sum - Upper Sum

‘Midpoint Sum Trapezoidal Sum
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Left Sum- 6 Subintervals

Right Sum- 6 Subintervals

Lower Sum- 6 Subintervals

Upper Sum- 6 Subintervals

Midpoint Sum- 3 Subintervals

Trapezoidal Sum- 6 Subintervals
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For each problem sketch the graph showing the appropdate region, then approximate the area bound by the curve
_—_ and the x-axis on the given interval using 6 different Riemann sums Left, Right, Upper, Lower, midpoint, Trapezoidal,
) using the specified number of subintervals.

1. Function: f(x) = —(x — 3)%+20 on Interval [0, 5] using 5 subintervals
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3. Function: f(x) =V2x—1+5
Graph: ‘
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